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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜  ( B.D.P.) 
’Ú≈˙œ˘Ú ¬ÛS ¬(Assignment)  

øÎ¬À¸•§¬ı˛, 2017 › Ê≈Ú, 2018 (December-2017 & June-2018) 

‹ø26√fl¡ ¬Û±Í¬Sê˜ ( Elective Course ) 

¬ı̨¸±˚˛Ú ( Chemistry ) 
¤fl¡±√̇  ¬ÛS ( 11th Paper )  

Organic Chemistry-II : ECH-11 

Û”Ì«˜±Ú – 50 (Full Marks : 50)   

˜±ÀÚ¬ı˛ &èQ – 30% (Weightage of Marks : 30%) 
¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 

’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 
Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 

Special credit will be given for precise and correct 
answer. Marks will be deducted for spelling 

mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

  ø¬ıˆ¬±· - fl¡ 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 10 × 2 = 20 

  [fl¡] [’] Ú±˝◊√√À¬∏C±À¬ıø?Ú ŒÔÀfl¡ øfl¡ˆ¬±À¬ı 2, 4, 6-

¬∏C±˝◊√√À¬ıË±À˜±Ùv≈¬›À¬ı˛±À¬ıø?Ú ¸—Àù≠ ∏̄Ì fl¡¬ı˛À¬ıÚ ∑ 

¬ı˛±¸±˚˛øÚfl¡ ø¬ıøSê˚˛±&ø˘ Î¬◊À~‡ fl¡èÚº  

  [’±] ’…±øÎ¬ø¬Ûfl¡ ’…±ø¸Î¬ ŒÔÀfl¡ 2-ø˜Ô±˝◊√√̆  

¸±˝◊√√Àflv¡±À¬ÛKI◊±ÀÚ±Ú õ∂døÓ¬ ø¬ıøSê˚˛± Œfl¡Ã˙˘¸˝√√ Î¬◊À~‡ 

fl¡èÚº 5 + 5 

 [‡¡] [’¡] ¶ç≥¡¬Û (skraup) ¸—Àù≠ ∏̄Ì ¬ÛXøÓ¬ õ∂À˚˛±· fl¡À¬ı˛ 

øfl¡ˆ¬±À¬ı fl≈¡˝◊√√ÀÚ±ø˘Ú õ∂dÓ¬ fl¡¬ı˛± ˚±˚˛ Ó¬± ø¬ıøSê˚˛± 

Œfl¡Ã˙˘¸˝√√ Î¬◊À~‡ fl¡èÚº  

  [’±] øÚ•ßø˘ø‡Ó¬ ¬Ûø¬ı˛¬ıÓ«¬ÚøÈ¬ ¸•Û±√Ú fl¡èÚ– 

   ’…±ø¸È¬±˝◊√√̆ ’…±ø¸ÀÈ¬±Ú

! 

"   2,5-Î¬±˝◊√√ø˜Ô±˝◊√√̆  ¬Û±˝◊√√À¬ı˛±˘º  

  [ ◊̋√√] øÙ¬Î¬◊¬ı˛±Ú 2-’…±˘øÎ¬ √̋√±˝◊√√Î¬ fl¡…±øißÊ√±À¬ı˛± ø¬ıøSê˚˛±˚˛        

’—˙¢∂̋ √√Ì fl¡À¬ı˛ øfl¡c ¬Û±˝◊√√À¬ı˛±˘ 2-’…±˘øÎ¬ √̋√± ◊̋√√Î¬ fl¡À¬ı˛ 

Ú± — ¬ı…±‡…± fl¡èÚº 5 + 2 + 3  

 [·¡] [’] ¤fl¡ Ó≈¬˘…±Ç ¤©Ü±À¬ı˛¬ı˛ ¸Àe ¤fl¡ Ó≈¬˘…±Ç ¢∂œ·Ú±Î«¬ 

ø¬ıfl¡±¬ı˛Àfl¡¬ı˛ ¸—˚≈øÓ¬  ¡Z±¬ı˛± øfl¡ÀÈ¬±Ú ∆Ó¬¬ı˛œ ¸y¬ı Ú˚˛ — 

¬ı…±‡…± fl¡èÚº 

  [’±] ¢∂œ·Ú±Î«¬ ø¬ıfl¡±¬ı˛fl¡ ˚‡Ú (i) ’…±ø¸øÈ¬ø˘Ú, (ii) Œ¬ı?±˝◊√√̆  

¸±˚˛±Ú±˝◊√√Î¬ › (iii)  øÙ¬ÚÀ˘¬ı˛ ¸Àe ø¬ıøSê˚˛± fl¡À¬ı˛ Ó¬‡Ú 

øfl¡ øfl¡ ¬Û±›˚˛± ˚±˚˛ ∑ 
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  [ ◊̋√√] ø¬ıøSê˚˛± Œfl¡Ã˙˘¸ √̋√ ¸—øé¬5 È¬œfl¡± ø˘‡≈Ú – 

   Œ¬ıÚÊ√À˚˛Ú ‚Úœˆ¬¬ıÚ ø¬ıøSê˚˛±º 3 + 3 + 4   

  [‚] [’] ø¬ı˛Ù¬¬ı˛˜…±È¬ø¶® ø¬ıøSê˚˛± ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ 

  

! 

Ph " CH = C(C
2
H

5
)COOH   Œ˚Ã·øÈ¬¬ı˛            

¸—Àù≠ ∏̄Ì ø˘‡≈Úº ¤ ◊̋√√ ¸—Àù≠ ∏̄ÀÌ øÊ√ÀÇ¬ı˛ ¬Ûø¬ı˛¬ıÀÓ«¬ Œfl¡Ú 

˜…±·ÀÚø˙˚˛±˜ ¬ı…¬ı˝√√±¬ı˛ fl¡¬ı˛± ˚±˚˛ Ú±, Ó¬± ¬ı…±‡…± fl¡èÚº 

  [’±] ¬˝◊√√Ô±˝◊√√̆  ’…±ø¸ÀÈ¬±’…±ø¸ÀÈ¬È¬ ŒÔÀfl¡ øfl¡¬ı˛+À¬Û 

 
Œ˚Ã·øÈ¬ õ∂dÓ¬ fl¡¬ı˛À¬ıÚº 5 + 5 

ø¬ıˆ¬±· - ‡ 

2º  Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 3 = 18 

 [fl¡] øÚ•ß¬ıøÌ«Ó¬ ø¬ıøSê˚˛±&ø˘ÀÓ¬ Î¬◊»¬Ûiß Œ˚Ã·&ø˘¬ı˛ ·Í¬Ú          

¸—Àfl¡Ó¬&ø˘ ø˘‡≈Ú – 

  [’] 
  

! 

Br.CH
2
CH

2
CH

2
Br  

  [’±]  

  [ ◊̋√√]  

  [÷] 
  

    
1

  

! 

1

2
 × 4 

 [‡] [’] øÚÀ•ß¬ı˛ ø¬ıøSê˚˛±øÈ¬ÀÓ¬ Î¬◊»¬Ûiß ¬Û√±Ô«øÈ¬ › 

ø¬ıøSê˚˛±øÈ¬¬ı˛ øSê˚˛±-Œfl¡Ã˙˘ ø˘‡≈Úº 

 

  [’±] øÚ•ßø˘ø‡Ó¬ ¬Û˚«À¬ıé¬ÌøÈ¬¬ı˛ fl¡±¬ı˛Ì √̇ «±Ú ¤¬ı— 

ø¬ıøSê˚˛± Œfl¡Ã˙˘¸ √̋√ ¬ı…±‡…± fl¡èÚ – 

   ’…±˘fl¡±˝◊√√̆  √̋√…±˘± ◊̋√√Î¬ Ê√̆ œ˚̨ Œfl¡±˝√√̆ œ˚̨ KCN ¤¬ı˛ 

¸±ÀÔ ø¬ıøSê˚˛± fl¡À¬ı˛ õ∂Ò±ÚÓ¬ ¸±˚˛±Ú±˝◊√√Î¬ Œ˚Ã· 

Î¬◊»¬Ûiß fl¡À¬ı˛ øfl¡c AgCN-¤¬ı˛ ¸±ÀÔ ø¬ıøSê˚˛± 

fl¡¬ı˛À˘ õ∂Ò±ÚÓ¬ ’±˝◊√√À¸±¸±˚˛±Ú±˝◊√√Î¬ Î¬◊»¬Ûiß √̋√̊ ˛º  

     3 + 3 
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 [·] øÚ•ßø˘ø‡Ó¬ ø¬ıfl¡±¬ı˛&ø˘¬ı˛ ≈√øÈ¬ fl¡ø¬ı˛˚˛± ¬ı…¬ı √̋√±¬ı˛ Î¬◊À~‡    

fl¡èÚ – 

  [’] Ù¬¸Ù¬¬ı˛±¸ Œ¬ÛÀKI◊±'±˝◊√√Î¬  

  [’±]  ’Ú± «̂ AlCl
  

! 

3
 

  [ ◊̋√√] N- Œ¬ıË±À˜±¸±fl¡ø¸øÚ˜±˝◊√√Î¬º 6  

 [‚] ¬[’] Kolbe-Schmidt ÛXøÓ¬ÀÓ¬ ¸…±ø˘ø¸ø˘fl¡ 

’…±ø¸Î ¬¸—Àù≠ ∏̄ÀÌ¬ı˛ Œé¬ÀS Œ¸±øÎ¬˚˛±˜ øÙ¬ÀÚÈ¬ 

¬ı…¬ı˝√√±¬ı˛ ◊̋√√ Î¬◊¬ÛÀ˚±·œ, ¬ÛÈ¬±ø˙˚˛±˜ øÙ¬ÀÚÈ¬ Ú˚˛º 

¬ı…±‡…± fl¡èÚº 

  [’±] Ò±Ó¬¬ı ∆Ê√¬ı Œ˚Ã· ¬ı…¬ı˝√√±¬ı˛ fl¡À¬ı˛ øÚÀ•ß¬ı˛ ¬ı˛+¬Û±ôL¬ı˛øÈ¬ 

¸•Û±√Ú fl¡èÚ – 

             

    4 + 2 

 [„√√] [’] ìŒ √̋√À'Ú › ÊÀ√̆  ’…±ø¸È¬±˝◊√√̆  ’…±ø¸ÀÈ¬±Ú Œ˚ÃÀ·¬ı̨ 

◊̋√√Ú˘ ¸ ‘̃øX ˚Ô±SêÀ˜ 92% ¤¬ı— 15%î — 

¬ı…±‡…± fl¡èÚº 

  [’±] øÚ•ßø˘ø‡Ó¬ õ∂fl‘¡Ó¬ ‚È¬Ú±øÈ¬¬ı˛ ¸—øé¬5 ¬ı…±‡…± ø√Ú – 

fl≈¡˝◊√√ÀÚ±ø˘Ú-2, 3-Î¬±˝◊√√fl¡±À¬ı±«ø'ø˘fl¡ ’…±ø¸Î¬ 

’Ú±˚˛±À¸ øÎ¬-fl¡±À¬ı±«ø'À˘˙Ú ø¬ıøSê˚˛±˚˛ Œfl¡¬ı˘˜±S 

fl≈¡˝◊√√ÀÚ±ø˘Ú-3-fl¡±À¬ı±«ø'ø˘fl¡ ’…±ø¸Î¬ Î¬◊»¬Ûiß 

fl¡À¬ı˛º 3 + 3 

 [‰¬] øÚ•ßø˘ø‡Ó¬ ¬Ûø¬ı˛¬ıÓ«¬Ú&ø˘ øfl¡ˆ¬±À¬ı ¸—‚øÈ¬Ó¬ fl¡¬ı˛À¬ıÚ ∑ 

  [’] ’ÀÔ±« Ê√±˝◊√√ø˘Ú 

! 

" # "  ’…±ÚÔË±øÚø˘fl¡ ’…±ø¸Î¬ 

  [’±]  
  

! 

CH
2
COCH

2
CH

2
COOMe " # "  

     
  

! 

CH
3
COCH

2
CH

2
CH

2
OH 

     4 + 2 
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ø¬ıˆ¬±· - ·¡ 

3º Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛øÈ¬¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 3 × 4 = 12    

 [fl¡¬√√] øÚÀ•ß¬ı˛ ø¬ıøSê˚˛±˚˛ Î¬◊»¬Ûiß ¬Û√±Ô«øÈ¬ øSê˚˛±Àfl¡Ã˙˘ ¸ √̋√     

ø˘‡≈Ú –  

   
   

 

 [‡¡¬√√] øÚÀ•ß¬ı˛ ø¬ıøSê˚˛±&ø˘ÀÓ¬ A, B, C ˙Ú±Mê√ fl¡èÚº 

   

      

 [·¡¬√√] fl≈¡˝◊√√ÀÚ±ø˘Ú øfl¡ ¬ÛÈ¬±ø¸˚˛±˜ √̋√±˝◊√√E'± ◊̋√√ÀÎ¬¬ı˛ õ∂øÓ¬ ø¬Ûø¬ı˛øÎ¬Ú 

’À¬Ûé¬± ’øÒfl¡ ¸øSê˚˛ ¬ıÀ˘ ˜ÀÚ fl¡À¬ı˛Ú ∑ ˚Ô±˚Ô 

fl¡±¬ı˛Ì¸˝√√ Î¬◊M√√¬ı˛ ø√Úº   

 [‚¡¬√√] øÚÀ•ß¬ı˛ ø¬ıøSê˚˛±øÈ¬ÀÓ¬ Î¬◊»¬Ûiß Œ˚Ã·&ø˘ ˙Ú±Mê√ fl¡èÚ › 

ø¬ıøSê˚˛±ø¬ıøÒ ’±À˘±‰¬Ú± fl¡èÚ – 

   

      

 [„√√¡¬√√] Œ¸±Î¬±˜± ◊̋√√ÀÎ¬¬ı˛ ¸±ÀÔ¬ ø¬Ûø¬ı˛øÎ¬ÀÚ¬ı˛ ø¬ıøSê˚˛±ø¬ıøÒ ø˘‡≈Ú ¤¬ı— 

’±·Ó¬ ˜”̆ Àfl¡¬ı˛ ’øˆ¬˜≈‡ ¬ı…±‡…± fl¡èÚº   

 [‰¬¡¬√√] 3-ø˜Ô±˝◊√√̆  ’…±øÚø˘ÚÀfl¡ øfl¡ˆ¬±À¬ı 3-ø˜Ô±˝◊√√̆  

ŒÙv¬±À¬ı˛±À¬ıø?ÀÚ ¬ı˛+¬Û±ôLø¬ı˛Ó¬ fl¡¬ı˛À¬ıÚ ∑  

 [Â√¡¬√√] øÚÚ˝√√±˝◊√√øEÀÚ¬ı˛ ¸±ÀÔ ¢≠± ◊̋√√ø¸ÀÚ¬ı˛ ø¬ıøSê˚˛±øÈ¬ øSê˚˛±Àfl¡Ã˙˘¸ √̋√ 

ø˘‡≈Úº   

 [Ê√¡¬√] Œflv¡±¬ı˛±˘ Œ˚Ã·øÈ¬ geminol diol ·Í¬Ú fl¡¬ı˛ÀÓ¬ ¬Û±À¬ı˛, 

øfl¡c ¬∏C±˝◊√√ø˜Ô±˝◊√√̆  ’…±ø¸È¬…±˘øÎ¬ √̋√±˝◊√√Î¬ Ó¬± ¬Û±À¬ı˛ Ú±º 

¬Û˚«À¬ıé¬ÌøÈ¬ ¬ı…±‡…± fl¡èÚº
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( English Version ) 

Group-A 

1. Answer any two questions : 10 × 2 = 20 

 A. (a) How would you prepare 2, 4, 6-

tribromofluorobenzene from 

nitrobenzene ? Give the chemical 

reactions.   

   (b) State with reaction mechanism the 

preparation of 2-methyl 

cyclopentanone from adipic acid. 5 + 5   

 B. (a) Mention with reaction mechanism the 

preparation of quinoline applying 

Skraup synthesis.  

   (b) Carry out the following conversion : 

    Acetylacetone

! 

"  2,5-Dimethyl pyrole. 

   (c) Explain the following observation :  

    Furan 2-aldehyde undergoes 

Cannizzaro reaction but pyrrole          

2-aldehyde does not. 5 + 2 + 3  

 C. (a) Explain why it is not feasible to 
prepare a ketone by addition of one 
equivalent of Grignard reagent to one 
equivalent of an ester.                 

   (b) What are the products formed when a 
Grignard reagent reacts with                  
(i) acetylene, (ii) benzyl cyanide and  
(iii) phenol ? 

   (c) Write short notes with mechanism : 

    Benzoin condensation reaction.  

       3 + 3 + 4 

 D. (a) Use Reformatsky reaction for the 
synthesis of 

  

! 

Ph " CH = C(C
2
H

5
)COOH . 

Explain why magnesium metal cannot 
be used in place of Zinc in this 
synthesis.         

   (b) How would you prepare  

from ethyl acetoacetate ? 5 + 5 
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Group - B 

2. Answer any three questions. 6 × 3 = 18 

 A. Write the structures of the products 

formed in the following reactions : 

  (a) 
  

! 

Br.CH
2
CH

2
CH

2
Br   

  (b)  

  (c)  

  (d) 
 

    
1
  

! 

1

2
 × 4

    
 

 B. (a) Write down the product formed with 

mechanism in the following reaction. 

 

  (b) Account for the following observation 

with mechanistic explanation : 

   Alkyl halides give mainly cyanides with 

aqueous ethanolic KCN, but with AgCN 

isocyanides are the main products. 

      3 + 3
 

 C. Mention two synthetic uses of each of the 

following reagents : 

  (i) Phosphorus pentoxide 

  (ii) Anhydrous AlCl
  

! 

3
 

  (iii) N-Bromosuccinimide. 6  

 D. (a) For the synthesis of salicylic acid using 

Kolbe-Schmidt reaction, why is sodium 

phenate useful but not potassium 

phenate ? Explain. 
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  (b) Carry out the following conversion 

using Organometallic compound : 

               
     4 + 2 

 E. (a) Enol contents of acetyl acetone in 

hexane and water are 92% and 15% 

respectively. — Explain. 

  (b) Rationalise briefly the following fact : 

   Quinoline-2, 3-dicarboxylic acid 

smoothly forms quinoline 3-carboxylic 

acid as the only product via a selective 

decarboxylation. 3 + 3 

 F. How will you carry out the following 

transformations  ? 

  (a) o-Xylene 

! 

" # "  anthranilic acid 

  (b) 
  

! 

CH
2
COCH

2
CH

2
COOMe " # "  

    
  

! 

CH
3
COCH

2
CH

2
CH

2
OH 

    4 + 2 

Group-C 

3. Answer any four questions : 3 × 4 = 12 

 A. Write the products formed with 

mechanism in the following reaction : 

 

 B. Identify A, B, C in the following reactions : 
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 C. Do you expect quinoline to be more 

reactive towards potassium hydroxide than 

pyridine ? Give appropriate reasoning.  

 D. Identify the products with reaction 

mechanism : 

   

     

 E. Suggest mechanism for the reaction of 

sodamide with pyridine explaining the 

orientation of incoming group.  

 F. How will you convert 3-methyl aniline to   

3-methyl fluorobenze ? 

 G. Write the reaction with mechanism 

between Ninhydrin and Glycine.  

 H. Chloral usually forms a suitable geminol 

diol whereas trimethyl acetaldehyde fails to 

do so. Explain the observation.  

! 
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